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PART-I, MENTAL ABILITY

oy we 1 ® 5 F uw A & o & o
} TE T ) g€ B R v g (2) ¥ i
T 2 9 Ty R T AR fRaed § ¥ &

e fawer i
1. 1,427, 16,7,36, 343
(A) 25 (B) 87
(C) 120 (D) 125
2. 712, 19; 98 9
(A) 30 (B) 36
(C) 39 (D) 49
3. 10,18, 28, 40, 54, 7, 88
(A) 68 (B) 70
(€) 71 (D) 74
4. 4,12, 36, 108, ?
(A) 144 (B) 216
(C) 304 (D) 324
5. 1,925,492, 121
(A) 64 (B) 81
(C) 91 (D) 100
6. 9T F Gy N A g iy FE H wEy
I
(A) 3= (B) dHe
() firgt (D) T9RH
o ammu?ﬁr{agﬂuafﬁﬂ% 4t YR =T
Hﬂ'&lﬂ % %‘-[ ~
(A) Tt (B) &1
(C) T (D) yaif
'8, gdear fom yar wTwRETdt ¥ wefyd @, s
TET VT H G99 € ..o
(A) 3YER (B) eaé
(C) =B (D) BfFRT
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Direction : In question Nos. 1 to 5 there is a number
series with one term missing shown by question mark
(?). This term is one of the following four alternative
given. Choose the correct number from options.

1.

o

~4
.

1, 4,27, 16, 7, 36, 343

(A) 25 (B) 87
(©) 120 (D) 125
4.7 12,19, 28.9

(A) 30 (B) 36
(C) 39 (D) 49
10, 18, 28, 40, 54, ? ., 88
(A) 68 (B) 70
(€) 71 (D) 74
4, 12, 36, 108, ?

(A) 144 (B) 216
(C) 304 (D) 324
1,9, 25 49,2, 121

(A) 64 (B) 81
(C) 91 (D) 100

Bread is related to Wheat in the same way
as Brick is related to ............ :

(A) Fire (B) Cement
(C) Clay (D) Building

Waves is related to Air in the same way as
Ripples is related to ........... :

(A) Water (B) Wind
(C) Storm (D) Smoke

Accident is related to Carefulness in the
same way Disease is related to .......... :

(B) Medicine
(D) Doctor

(A) Treatment
(C) Sanitation

P.T. O.



e : yvq Fis 9-13 ® & 13 v w4 & @l
WA ¥ % Fyaes fug e ma 8, R ™ Wn
fpedl § ¥ wF fawew ad waw v @, S fE
fowes gfad|

9, 9t : gug : : gEidfex : ?

(A) 57 (B) faferzor

(C) Feil (D)
10. T : 3Eq : 2 3T ?

(A) Wi (fFs)

(B) Ao (T HETW)

(C) e

(D) %
1. oeer o w@ofocc g oc ?

(A) foers (B) &¥el

(C) i (D) &rm
12, gedt - g c o =m0

(A) ST (B) 3TERT

(C) @ (D) g=it
13. afgor . Iw-ufvem ;o ufdew o ?

(A) ©@ (B) =R

(€) - (D) Ryr-afeem

14. &R s ww § MYSTIFY & F2-H&a
NZTUJGZ foran smar &, 3 s §f NEMESIS
F FT-Hepa g ?
(A) MDLHRDR
(C) ODNHTDR

15. f¥ $ # SIKKIM ' THLIJL ferar s
21 3 1 § TRAINING & #is w1 for
SR 7
(A) UQBHOHOF
(C) UQBJOHHO

(B) OFNFTIJT
(D) PGOKUGU

(B) SQBHOHOH
(D) UQBJOHOH
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Direction : In question No. 9-13, there is a question
mark in the blank space and it is only one of the four
alternatives given under the question which satisfies
the same relation as is found between the two pattems
to the left of the sign : : given in the question. Find
the correct alternative.

9. Clock : Time : : Thermometer : ?
(A) Heat (B) Radiation
(C) Energy (D) Temperature
10. Hot: Oven: : Cold:?
(A) Refrigerator
(B) Air Conditioner
(C) Ice Cream
(D) Snow

11. Ornament : Gold : : Needle : ?
(A) Stich (B) Steel
(C) Tip (D) Thread

12. Earth : Sun : : Moon : ?
(A) Orbit (B) Sky
(C) Star (D) Earth

13. South : North-West : : West : ?
(A) East (B) South
(C) North-East (D) South-West

14. In a certain language MYSTIFY is coded as
NZTUIGZ, how is NEMESIS coded in that
language ?
(A) MDLHRDR
(C) ODNHTDR

(B) OFNFTIT
(D) PGOKUGU
15. In certain Code SIKKIM is written as

THLIJIL. How is TRAINING written in that
Code ?

(A) UQBHCHOF
(C) UQBJOHHO

(B) SQBHOHOH
(D) UQBIOHOH



16.

18.

19.

20.

21,

22.

NE

sl w1 § POPULAR ¥ & Fe-Hahd #
QPQVMBS ferar i &, g fsw wisw o1
Fe-Hhd GBNPVT & ?

(A) FAMOSU (B) FAMOUS
(C) FASOUM (D) FOSAUM
If& PAINT ST Fe-Feha 74128 a2 EXCEL

F Fe-Haha 93596 & fam wmw @, @ e
ACCEPT &I &e-8da = fe@il 7

(A) 554978 (B) 735961
(C) 547978 (D) 455978

e Z = 52 T ACT = 48, & @ BAT & 9
é’ﬂ:

(A) 39 (B) 44
(C) 46 (D) 50
frr 4 & fim =t gfR—

(A) & (B) @@
(C) T (D) e

TF R A UF =T @ wREw uE R
aF I’ % WE W §F 71 IF Aa &
oeer ¥ ¥ Y R 7

(A) == TR (B) ¥

(C) s (D) I

THIS W OWE TS &1 T, oY WO 2
Y oo & fUa &1 HS & G ¥
ftwa € ?
(A) &
(C) T
3T STHIYT & THEA 8| 319 ¥ TF el o718

ARHYT A IW & 12 T B #H 3P FH
G & ST AR B W S B2

(A) 25 = (B) 27 =¥
(C) 20 =¥ (D) 22 =

(B) diar
(D) <&

16.

17.

18.

19.

20.

21.

22.

If in a certain language, POPULAR is coded
as QPQVMBS, which word would be coded
as GBNPVT ?

(A) FAMOSU
(C) FASOUM

(B) FAMOUS
(D) FOSAUM
If PAINT is Coded as 74128 and EXCEL is

coded as 93596, then how would you code
ACCEPT ?

(A) 554978
(C) 547978

(B) 735961

(D) 455978

If Z= 52 and ACT = 48, then BAT will be
equal to :
(A) 39
(C) 46

(B) 44
(D) 50

Choose the odd one out from following :
(A) Ear (B) Eye

(C) Nose (D) Throat

A woman introduce a man as the son of the

brother of her mother, How is the man related

to the women ?
(A) Cousin
(C) Nephew

(B) Son
(D) Grandson

Manoj has brother Pankaj. Manoj is the son
of Ajay. Somesh is Ajay's father. How Pankaj
is related to Somesh ?

(A) Son (B) Grandson

(C) Brother (D) Grand Father

Today ié Akash's Birthday. One year from
today, he will be twice as old as he was 12
vears ago. How old is Akash today ?

(A) 25 years
(C) 20 years

(B) 27 years
(D) 22 years

P.T. O.



23.

24,

25.

26.

217.

28.

29.
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uF fm & oW 9 e 9 @ I # i
T d1 U 9 gge fiar & 3H e @ H
a) T A @ # oI el ()

(A) 12 (B) 15

(C) 18 (D) 20

of B wéA @ 74 wike 1 an YR |
7 R vt &, @ 3 WA #1947 Al
& I G an B8 ?

(A) HHER (B) TR

(C) YFaR (D) Ue@r

siER $ ET Rag & EEw 91 T

e W # 149 wfe @ T Rl =
SEFYT NI 14 TG F B O AR o ?

(A) H¥aR (B) AR

(C) ATeE (D) TR

& w °§ ferd s Al () W | Fadi
7 A9 ¥ sergE 81 e § Fa K en
g ? |

(A) 34 (B) 33

(C) 32 (D) 31

TS Ui H 40 @efd d ¥ @ oW ad §
o9 Hiegdl 81 THW %9 A 9 ¥ gm ?

(A) 278t (B) 263t
(C) 2531 (D) 248t
TS AfF R R & it g e @l 2|

98 1350 ammEd (UEideie aRd) gua 2|
3T 1T 1800 2fyuTEr AT €1 3% IwH g
foog fewm & 2 2

(A) TH-TH (B) =Rur-ufvem
(C) SW-ufeem (D) =Rm-gd

T S 30 2T I S T I 8, 30E
e wRl T TEER 40 HReT et 8, e
Tt 3 qE 20 WX IO 8, [ @ W
g 40 HeT e €1 3| q6 3 T HWH
¥ o fer | 8 2
(A) 0 X
(C) 20 X

(B) 40 HRX
(D) 10 Hr=T

26.

27.

28.

29.

A father is now three times as old as his son.
Five years back, he was four times as old as
his son. The age of the son (in years) is :

(A) 12 (B) 15
(C) 18 (D) 20
If the seventh day of a month is three days

earlier than Friday, what day will it be on the
nineteenth day of the month ?

(A) Monday (B) Wednesday
(C) Friday (D) Sunday
Saturday was a holiday for Republic Day,

14th of the next month is again holiday for
Shivratri. What day was it on the 14th ?

(A) Monday (B) Thursday
(C) Tuesday (D) Saturday
Lalit ranks seventh from top and twenty-sixth

from bottom in a class. How many students
are there in the class ?

(A) 34 (B) 33

(C) 32 (D) 31

Pooja is fourteenth from the right end in a row of
40 girls. What is her position from the left end ?
(A) 27th (B) 26th

(C) 25th (D) 24th

A man is facing South. He turns 135 in the
anti-clockwise direction and then 180° in the

Clockwise direction. Which direction is he
facing now ?

(A) North-east
(C) North-west

(B) South-west
(D) South-east

A girl goes 30 meters North, then turns right
and walks 40 meters, then turns right and
walks 20 meters, then again turns right and
walks 40 meters. How many meters is she
from the original position ?

(A) 0 meter (B) 40 meters
(C) 20 meters (D) 10 meters



30. ﬁﬁﬁﬁﬂwwa:r-ﬁaaﬁ(w, FR, aRT)
# gy & of = F =Ew e 7 ?

(A) (B) E :
© (D)
09 "(Je

ot : = e & s e w8 g9 i
31 ¥ 33 & I AR

31, Fe & Rl 7 a9 ol donet W A
27

(A) 6 (B) 15

(C) 20 (D) 0 ¥ F¥ T
32. Faa &9 FEf § am ot dwmst w1 oEwa

e ?

(A) 27 (B) 162

(C) 648 (D) 7= 7 =¥

33. Faa % B ¥ o areh gl w g
g ?
(A) 5 (B) 16
(©) 21 (D) 598 & FE
foador : 2 & o 9o o7 semwa & AW 9vq HEie
(34) @ (35) & IW FI
Sruft
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L4319 86
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F AR YAE A 2 F G § 7
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(©) ®: (D) §@
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30.

Which of the following Venn-diagram
correctly illustrate the relationship among the
classes (Bus, Car and Vehicle) ?

(A) (B) E 3

Direction : Study the figure given below and answer

the question no. 31 to 33.

3.

31.

33.

Figure

What is the sum of the numbers which
belongs to two figures only ?

(A) 6 (B) 15
(©) 20 (D) None of these

What is the product of the numbers which
belogns to the three figures only ?

(A) 27 (B) 162
(C) 648 (D) None of these

What is the sum of numbers which belong to
one figure only ?

(A) 5 (B) 16
(C) 21 (D) None of these

Directions : Study the number series given below

and answer the questions (34) and (35).

34.

Series
6,41,2,2,8,7,4,2,1,53,.8,6.2,1,7,
1.4,3,1,2,.8,6

How many pairs of successive numbers
having difference of 2 each ?

(A) Four (B) Five

(C) Six (D) Seven

E L.



35. e demel i smefy @ e § 2
(A) 4,6, 8 (B) 1, 4, 6
©1,2,3 (D) 4, 5, 7

frder : fr= fom 1 e avemge SR 991 T
i (36) WH (37) F T &

T 1,2,3,4,5 6, 7 & H T g
36, SF T 89 39 WAAT Aaiell & Sdmr @ S
5 T T R ?
(A)S (B) 4
(©)3 (D) 2
37. $H W &9 IT GGG TES FFAar 8, S
fo6 & & ?
(A)3 (B) 4
(€)1 (D) 2

e« v wwiE (38) T (42) H 9 URVARER I
HRrd A wvrars Ry (9) § vl T g 2

38, ‘rYQ 71\(9 128\(32
4 10 ?

(A) 10 (B) 15
(C) 20 (D) 25
30, 20160[ — 4
n 4
480 a
96 24
(A) 2880 (B) 2800
(C) 2400 (D) 1920
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3s.

Which figures have equal frequencies ?
(A) 4,6, 8 (B) 1,4, 6
iy 1,2 3 (D) 4,5,7

Direction : Study the following figure carefully
and answer the question number (36) and (37).

Leaders
Y

Z
Singers

Note : 1, 2, 3, 4, 5, 6, 7 shows the region.

36.

37.

Which region denotes Indian Leaders who

are not singers ?
(A)S (B) 4
(C)3 (D)2

Which region represents Indian singers who

are not leaders ?
(A)3 (B) 4
€)1 (D)2

Direction : In question numbers (38) to (42) find
the missing number/character marked with question
mark (7).

38.

39.

1V§ ?1\(9 128\/32
4 10 ?

(A) 10 (B) 15
(€) 20 (D) 25
20160 4
? 4
480 8
28 24
(A) 2880 (B) 2800
(C) 2400 (D) 1920



40. ¥ 40.
3
(A) 10 (B) 12 (A) 10 (B) 12
() 13 (D) 15 (C) 13 (D) 15
41. 5 | 4 9 41. 5 F 4 | 9.
6 3 7 G- 3 ?
7 2 4 7 2 ]
65 2Q 45 65 20 45
Al (B) 2 (A) | (B) 2
©)3 (D) 4 ©)3 (D) 4
42. 42.
A D H A D H
F l M F | M
? N = 7 N R
(A) P (B) N (A) P (B) N
©) O (D) K (C)O (D) K

foadar : w99 #uis (43) ] (47) ¥ =R e #it suft Direction : Question number (43) to (47) have a
& T 2 O oner B wed &) Svh o e & series with four figures called the problem figures.

w@d qC, uied @t fo (& 2 8 =vif &) 'ég sa¢  Bearing series in mind, choose the correct fifth
femi 4 ,‘v'l't-pf e ﬁﬁﬂl blank figure (marked with ?) from answer figures.

43. T o 43. Problem Figure

a P N4 P FIE2 PN 2PN,

I fem Answer Figure
(A) B) (©) (D) (A) (B) (C) (D)

NE [9] P.T. O.



46.

17.

E

BEE=EE
I f

OO0 | CanD | (33D %

(A) (B) <© @
e fad
ele|ol?
I fem
Qllao|D)db

(A) (B) © (D
gaen

A E
Iw f=

R ER S
(A) (B) (SIS
e fem
ollo(lolhof ?
I fom

oo |©

(A) (B) < @O
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44.

45.

46.

47.

Problem Figure

@| 8

:

Answer Figure

ceoellecsrlleITd) %
(A) (B) < (D
Problem Figure
Jele®
i || L2
Answer Figure
O)98DIg
\J/
(A) (B) € (D)

Problem Figure

A

Oe

-

Answer Figure

001

5

(A) (B) © @D

Problem Figure

~ ;

ollo(lol)o
~

Answer Figure

D S

o L1 o |©

(A) (B) © @O




Brfyr - T T ™ wwAT (48) ® (50) # & f
F W 1,2,3,4 B3 M E, R = fe wad
§1 5% (A), (B), (C) W (D) 3w i &1 fom |
wE 2 ¥ s Pffew 68w ) f (3) w@ (4) # W
& diy f 4 % frg S| BE & 9R

D ?

(1) (2) (3) (4)

IRRD

48. 9= @

49, T o
Al =7
() (2) (3) (4)
TR FE
(A) (B) ©) (D)
50. mm=n o
o] = ?
1 2 3 4
zm fm
(A) (B) (€) (D)
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Direction : Each of the following questions (48) to
(50) consists of two sets of figures namely 1, 2, 3
& 4, called problem figures, while fig. (A), (B),
(C) & (D) constitute the Answer Set. There is a
definite relation between figure 1 & 2. Establish a
similar relation between Figures 3 & 4 by choosing
suitable fig. 4 from the Answer set.

DL ?

(1 () 3) 4

48. Problem Figure

Answer Figure

&G

(A) ® © (D)

49. Problem Figure

A =7

(1) 2) {3) (4)

Answer Figure

AlO[A| A

(A) (B) © (D)

50. Problem Figure

—@—{J%} -+ ?

1 2 3 4

Answer Figure

e

(A) ® © o

P. T. O,
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ENGLISH

Direction : Questions 1 to 6 : 8.

Choose the correct word from the options to fill in
the blanks.

1.  The fuel ........... of Mr. Mohan's car is very
high.
(A) consumption (B) usage 0,
(C) rate (D) expenditure
2. I am working hard ........... the examination.
(A) to get on (B) to get through 10.
(C) to get up (D) to get over
3.  Water is precious, do not ............. it.
(A) waste (B) waist
(C) west (D) vest
4,  Sheisthegirl ................ book I borrowed for
reading.
(A) who (B) whose
(C) whom (D) which

A hard nut to crack :
(A) expensive thing
(B) a difficult problem
(C) a foolish research

(D) an casy question

At the spur of the moment :

(A) without delay  (B) difficult moment
(C) great moment (D) None of the above
Mrs. Roy keeps an open house on Saturday

evening parties. You will find all kinds of
people there.

An open house means—

(A) Welcomes all members.

(B) Welcomes a select group of people.
(C) Keeps the doors of the house open.
(D) Keeps the gates open for a few persons.

Direction : Questions 11 to 14 :

Select the word that is opposite in meaning to the

5.  God helps those who help ...............

wora given :
(A) itself (B) themselves
. 11. Numerous :
(C) himself (D) herself
(A) abundant (B) manifold
6.  Reading good books will ........... your outlook. (C) seanty (D) Comprising
(A) Broad (B) Broaden
(C) Weaken (D) Vast 12. Vibrant :
(A) vivacious (B) sparkling
Direction : Questions 7 to 10 : (©) dull (D) spirited
Choose the correct meaning of the phrases/idioms )
given below. 13. Evil:
” O (A) vicious (B) corrupt
(A) _to tE_ikB ot (C) wicked (D) virtuous
(B) matter of shame 14.  Zenith :
(C) complete knowledge (A) culmination (B) summit
(D) None (C) pinnacle (D) bottom

NE [16]



Direction : Questions 15 to 18 :

Select the most appropriate option to fill the blanks
from the given alternatives.

158, Shimla 15 i than that of Jalandhar.
(A) colder (B) coldest
(C) cold (D) as cold as

16. Hardly had they reached the school .............
the bell rang.

(A) when (B) than
(C) until (D) behind
17. The police are lookirg for a ......... of thieves.
(A) troop (B) gang
(C) crew (D) party
18. Theduck ...cnsiei: and then dived into the
water.
(A) bellowed (B) grunted
(C) quacked (D) barked

Direction : Questions 19 to 25.

The following passage contains numbered blank
spaces. Fill in the blanks with the appropriate word
given in each space.

He was happy and contented ............. (19) he
was poor. He never showed signs of frustration
verveennnnnns (20) his friends who were rich were
always in distress. .......... (21) of the problems he
had to face, he remained calm and composed and
so the people liked his company. .........ccovene. (22)
He went he spread happiness. | don't know ..........
(23) he could be so happy ........... (24) he had
nothing but few comforts in life. He was hard
working ............. (25) that was the only secret of
his success in life.

19. (A) though
(C) when

(B) Although
(D) for

NE [17]

20. (A) While (B) When
(C) though (D) because
21. (A) Inspite of (B) Instead of
(C) Even though (D) Even
22. (A) Wherever (B) Whenever
(C) Whichever (D) Whatever
23. (A) how (B) when
(C) why (D) what
24. (A) When (B) while
(C) yet (D) what
25. (A) and (B) but
(C) As far as (D) So far as

Direction : Question 26 to 28.

Read the following passage and answer the
questions given after it.

A large number of people are consuming
packaged food because it has become a matter of
convenience, pleases the taste buds and fills your
stomach. Also it is important to note the quality of
packaging used for these products and whether
additives are used or not to increase their shelf-
life. For example, dairy products like milk that
comes in tetra packs comes without additive and
due to no contact with air, it remains fresh for a
long period of time. The ready to eat food products
are specially laden with preservatives and have
excess oil in form of transfats, which can be a threat
to health. The problem with canned or processed
food is that they have excessive salt or sugar.
Cooking at home is always a healthy option over
junk food. What one needs to do is a little bit of
time management and planning. We should stick to
those food items that we are genetically used to
such as Indian food cooked by traditional methods.

P.T. O.



26.  Why are morc and more people consuming
packed food ? It 1s because :

(A) it is cheap.
(B) it is convenient, tasty and fulfilling.
(C) it is time consuming.

(D) it is good for health.

27. Ready to eat products are laden with :

(A) Proteins (B) Vitamins

(C) Minerals (D) Preservatives

28. Why do you think cooking at home is a
healthier option ? It is because .........

(A) It does not contain prescrvatives or
excess of salt or sugar.

(B) It helps in time management and
planning.

(C) It pleases the taste buds and fills the
stomach.

(D) It is genetically good.
Direction : Questions 29 to 33 :

Read the following passage and answer the
questions given after if :

What needs to be set right in our approach to
work. It is a common sight in our country of
employees reporting for duty on time and at the
same time doing little work. If an assessment is
made of time, they spent in gossiping, drinking tea,
eating "pan" (paan) and smoking cigarettes, it will
be shocking to know that the time devoted to actual
work is negligible. The problem is the standard
which the leadership in administration sets for the
staff. Forget the ministers because they mix politics
and administration. What do top burcaucrats do ?
What do the below down officials do ? The
administration set up remains weak mainly because
the employees do not have the right example to
follow and they are more concerned about being in
the good books of the bosses rather than doing work.

NE [18]

29. The employees in our country :
(A) are quite punctual but not duty conscious.

(B) are not punctual, but somehow manage
to complete their work.

(C) are somewhat lazy but good natured.

- (D) are not very highly qualified.
30. The word "assessment' means :

(A) enquiry
(C) evaluation

(B) report
(D) summary

31. The leadership in administration :
(A) sets a fine example to the employees.
(B) is of a reasonably high standard.
(C) is composed of idealists

(D) is of a very poor standard.

32. According to the writer, the administration
in India :
(A) is by and large effective
(B) is very strict and firm
(C) is affected by red tape

(D) is more or less ineffective

33. The central idea of the passage could be best
expressed by the following :

(A) The employees outlook towards work
is justified.

(B) The employees must change their
outlook towards work.

(C) The employees would never change
their work culture.

(D) The employer-employee relationship is
far from healthy.
Direction : 34 to 40

Choose the word which best fills the blank from
the four options given below :

oy PIEISE o your votes in favour of me.
(A) Caste (B) Cost
(C) Cast (D) Cancel



36.

37.

38.

39.

40.

41.

Sachin Tendulkar ........
for India.

(A) brought off
(C) brought up

..... an impossible win

(B) brought before
(D) brought for

Shakespeare ................ Macbeth.
(A) read (B) wrote
(C) write (D) written

The car driver was arrested for rough driving
and his license was :

(B) confiscate
(D) penalised

(A) impounded
(C) suspended

The police ......ceern..n.. NO stone unturned to
trace the culprits.

(A) leave (B) left

(C) live (D) None of the above

AIDS is not a disease that can be ...........
through the air or by insects.

(A) circulated (B) transferred

(C) disseminated (D) transmitted

Had you told me of the short cuts earlier, |
seaseisessnes THE CODLESE.

(B) would have won
(D) will be won

(A) will have won
(C) would be won

Either Ram or Shyam ............... lost his book.
(A) has (B) have
(C) had (D) have been

Directions : 42 to 43.

Choose the correct word to substitute the phrasal
verbs underlined.

42,

43.

NE

They decided to do away with the old system :
(A) remove (B) repair
(C) prepare (D) reject

| am not able to make out anything from your
speech :

(A) conclude

(C) create

(B) understand
(D) prepare

Direction : Questions 44 to 50.

Select the most appropriate option to fill in the

blanks from the given alternatives.

44.

4s.

46.

47.

48.

49.

50.

[19]

There is going to be a beauty .......ccccoeee. N

our school.
(A) contest (B) conscent

(C) conquest (D) fare

Extraordinary expenses .............. be limited
by the worth of an occassion.

(A) must (B) dare
(C) are (D) is
One could see ............... her resemblance to

her brothers.
(B) a glimpse of
(D) off

(A) at a glance
(C) in a glance

Disaster means :

(A) a pleasing incident

(B) distantly situated

(C) which brings happiness

(D) an unexpected event that causes loss of
lives or wealth

Paddy fields are :

(A) fields where rice is grown

(B) big fields

(C) fields where wheat is grown

(D) fertile and big fields

If that kind of thing ............ on peacefully,
there is no harm in it.

(A) go (B) goes

(C) went (D) gone

BE .corinmsimenss just like an angel.

(A) looks (B) look

(C) seemed (D) pretended

P.T. O.
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PART-III, SCHOLASTIC APTITUDE TEST

(A) L (B) L

(€) (D) s

[20]

wdifeaes oI
PHYSICS
TF FX 60 kmvhr F T ¥ THA T T 1. A car covers 30 km at a uniform speed of 60
€ 30 km F g 7@ FEh 81 AR 40 km/hr km/hr. and the next 30 km at a uniform speed
I 9 | wHE A < 3T 30 km of 40 km/hr. The total time taken is :
ot 7 F 8, @ I g0 a9 FA A @M
al $E §HE @ (A) 30 min (B) 45 min
(A) 30 fime (B) 45 e
(C) 75 firFe (D) 120 fi2 (C) 75 min (D) 120 min
TFHAR A TA T "u" 9 § TF TR FH 2. A stone is thrown upwards with a speed "u"
P 37 T ST 2 A a8 30" a7 T from the top of a tower. It reaches the ground
¥ TR 2, @ FAR F FEE EeT with a velocity "3u". The height of the tower is :
u’ 2u’ ﬁ E
(A) 5 B) = (A) " (B) .
©) " (D) 2 (&) 2 (D) "
A% U HUT F =S AN & T A Hor 3. When the speed of a particle is doubled, the
M T el AR AT F SR B ratio of its kinetic energy to its momentum :
(A) W& fraa @m (B) g0 @m (A) remains the same (B) gets doubled
(C) smar & (D) 9K AT g (C) becomes halt’” (D) becomes four times
10° Hz ¥maft aeft Wfea @n et s 4. Calculate the wavelength of radio waves of
3 x 108 m/s &1 39a auree gt frequency 109 Hz. The speed of radio waves
(A) 60 i (] Al gﬁj ;0 ]c?: " (B) 40 cm
(C) 30 ¥ (D) 10 & (C)30 cm (D) 10 cm
afd § om, @ A BF & UH §ag W 16 5. A force of 16 N is distributed uniformly on
N & 9 U& 0 &9 ¥ faafts & af 39 @ag one surface of a cube of edge 8 cm. The
W TE H T & pressure on this surface is :
(A) 3500 Pa (B) 2500 Pa (A) 3500 Pa (B) 2500 Pa
(C) 4500 Pa (D) 5500 Pa (C) 4500 Pa (D) 5500 Pa
frg fufy & & &1 9= 3fEay gm ? 6. In which of the following caes, is the work

done maximum ?

L.
(B) 450

]
3

(A) 4 _
() L -



10.

11.

12.

13.

NE

faw 0 fom & g A &R B & 9 g fadl
yferdisr BT

100210Q10Q

A 200 B

200 209_/

(A) 9.23 Q (B) 15 Q
(C) 30 Q (D) 100 Q
gfe g verd & € ar = e L e

2L &, A9 IR Y FE F AR
FAW: 4A FR A B, T IAH wRE &

ST E :

(A)1:1 (B)1:8

©)8:1 (D) 1:2

IRk R WY ad a) H 36 A dTEE |
= T e R S @ swe T kR
HUE

R
(A) 9R (B) 3
(C) 3R (D) R/3
a8 el foed 9 @ €
(A) 3THT T (B) e famifiam

(C) gu=sRr Fefe (D) ifafa feie

FETET % WY IAT B4 FTE g S
2 :

(A) (B) STamafoa

(C) sEvERIE (D) Wi

o f oy gt ot T gHe o 3
# AB & fawm & w7 Ww A
TG A e gh df—

1 S )E
(A) 1 (B)[g]f
(C) 2f (D) = 2
Ifz 2 9 T aTel fvel & gan wme
2 a o vz & faw s=f, &o% five &
R FA G o gt
(A) T& §HH (B) @fep
(C) #HA (D) B 3=

[21]

10.

11.

12.

13.

The total electrical resistance between the
points A and B of the circuit shown in :
100100100

A 200
MWW, E »
200 zm’/
(A)923 Q (B) 15 Q
(C) 30 Q (D) 100 Q

Two wires of same material have lengths L
and 2L and cross-sectional areas 4A and A
respectively. The ratio of their resistances
would be :

(A)1:1 (B)Y1:8

() 8:1 (D)1:2

Wire of resistance R is streched to thrice
of its original length, what is its new
resistance ?
(A) 9R

(C) 3R

gy &
®) 3

(D) R/3
Galaxy in which we live is :
(A) Milky way

(C) circular galaxy

(B) radio galaxy

(D) irregular galaxy
Vision problem occuring in old age is known
as :

(A) Myopia

(C) Hypermetropia

(B) Presbyopia
(D) Anepia

The focal length of each half, if (

the symmetrical lens of focal
length 7 cut along AB :

c
wr e\

(C) 2f (D) zero

Two bodies of unequal masses posses the same
momentum. The K.E. of the heavier mass will
be ........... the K.E. of the lighter mass

(B) greater than

m\_.____‘-’/}

(A) same as

(C) less than (D) much greater than



14.

15.

16.

17,

18.

19.

20,

NE

T A

CHEMISTRY
seig &1 nfasFes @ 14. LClectron was discovered by :
(A) 3. 9fm (B) =sf= (A)1J. Thomson  (B) Chadwick
(C) 3. Ties= (D) S (C) E. Goldstein (D) Rutherford

frgm @1 Tl 97 2
(A) CaCO, . 5H,0
(B) CaSO, . 2H,0

!
(C) CaSO, . 5 Hy0

|
(D) CaCO; . 7 H,0

@ dd gEdl AR # qd 38 a9 § e
# W # P E -

(A) TJEHT (B) ¥M4 3919
(C) A (D) fatsm foFm
Na* &1 geiagifas faam € :

(A) 2, 8, 1 (B) 2,8, 8
(C)2,8 (D)2, 8. 8, 1

SO, H HeH WH] H T §

(A)3 (B) 2
(€) 4 (D) 6
CH3-CH-CH;

CH,

F IUPAC (smE.gdtud.) am fafgd -
(A) 2, 2 srmfyd am=

(B) 2, #Hfger =324

(C) 2, 2 sTAfaer Uaq

(D) 2, A= HUA

= W § g §

(A) Fe, Ni, Cr (B) Fe, Ni, Sn
(C) Fe, C, S (D) Fe, P, Cr

[22]

15.

1.7

18.

19,

20.

The chemical formula of Gypsum is :
(A) CaCOy, . 5H,0
(B) CasO, . 2H?_O

I
(C) CaSO, . EHQO

1
(D) CaCO;y . 51,0

The process in which the red hot cast iron is

cooled immediately in cold water is known as :
(B) Quenching
(D) Bleaching

(A) Tempering
(C) Annealing
Electronic configuration of Na' is :
(A) 2, 8,1 (B)2. 8,8
(C)2,8 () 2,8, 81
Valency of Sulphur atom in SO, is :
(A)3 (B)2

(C) 4 (D) 6

Write IUPAC name of :

CH,—CH-CH

C|H3
(A) 2, 2 dimethy| propane
(B) 2, methyl butane
(C) 2, 2 dimethyl ethane
(D) 2, methyl propane
Stainless stecl contains :
(A) Fe, Ni, Cr
(CYy Fe, C, 8

(B) Fe, Ni, Sn
(D) Fe. P, Cr



21.

22.

23.

24,

25.

26.

NE

e ot ey # 12 =g § ue IH g
FAE |18, O 39 T § A seeE
Tufem B

(A) 23 (B) 12
(€) 10 (D) 11
TG TR ¥ dl 1 SRl &g o g

(A) 1s2, 25 2p?

(B) 1s?, 2¢? 2p5, 3% 3p/
(C) 1s2, 2s? 2pS

(D) 1s?, 2s% 2p®, 3s!

AR S& W 7] ToRIRSE o S W S
ﬁ'ﬂﬂqf'ﬂé‘, EIE.'%

(A) SO, (B) S

(C) H, (D) O,

O
forar®s TR (_c—oH) & M ¢ :

(A) tfeeems
(B) #eH
(C) UEHIErt
(D) wEtfaafers 3T
wdm § FEA-aEA et & we g R
e A9 @
(A) THE TEEAS oY
(B) i& weddNs v
(C) F weodes a9
(D) FrE waw®
PVC &1 §F & :
(A) +CH,~CH},

1
(B) CH,~CH, ¥,
(C) +CF,—CF, 3.
(D) +CH,—CH ).

|
CH;,

[23]

21.

22.

23.

24,

Z5.

26.

If there are 12 neutrons in an atom and its
atomic number is 11. Then how many
electrons are present in it :

(A) 23 (B) 12

(C) 10 (D) 11

What is the electronic configuration of
elements of IlIrd group :

(A) 1s% 252 2p3

(B) 1s2, 252 2p$; 352 3p!

(C) 1s2, 252 2p8

(D) 1s%, 252-2p8, 3s!

The gas produced on addition of dilute
Sulphuric acid on powdered zinc is :

(A) SO, (B) S
(C) H, (D) Oy

0
Name of functional group (_&_ QH)is:

(A) Aldehyde

(B) Ketone

(C) Alcohol

(D) Carboxylic acid

Type of bond present between carbon— carbon
atoms in Ethene is :

(A) Single covalent bond

(B) Double covalent bond

(C) Triple covalent bond

(D) Electrovalent bond

Structure of PVC is :
(A) £CH,—CHT,

I
(B) € CH,—CH, 3
(C) tCF,—CF, 7,
(D) tCH,-CH;,

|
CH,

P. T. ©.
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28.

29.

30.

31.

32.

33,
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strar formm=

BIOLOGY
ey v e sfoafea fear 27. Who proposed the term Ecosystem :
(A) T S 9 (A) A. G. Tensley
(B) §. . 30w (B) E. P. Odum
(C) &el Hfegy (C) Carl Mobius
(D) 3= g (D) Earnst Haeckel
TFHTIT TyemeT & affEar & 2ifRleE 7 89 28. In the process of Photosynthesis, the source
% of Oxygen is :
(A) CO, (A) CO,
(B) H,0 (B) H,0
(C) CgH,,04 (C) CgH 204
(D) 3% ¥ HE T (D) None of these
o8 RS & F7 S99 9TF 99 8 : 29. Which component is formed by plants in the
) s (@) s o e (i
() (D) IR T (C) Producer (D) All of the above
frer & & 37 o & Tew AE @ 30. Which of the following is a plant hormone :
(A) gfem (B) WEEIHEFA (A) Insulin (B) Cytokinin
(C) i (D) TS (C) Thyroxin (D) Oestrogen
HIEH F TE EEY FEAT R 31. Power house of cell is known as :
(A) TieiiHE (B) mREIEvgan (A) Golgi bodies  (B) Mitochondria
(C) TEarEH (D) EHEH (C) Ribosome (D) Lysosome
fewiawr & F, s & @ 32. F, ratio in Dihybrid cross is :
(A)l1:2:1 (B)7:3:6 (A)1:2:1 B)T:3:8
(8:3:3:1 (D)3:1 (€Y9:3:3:1 D)3

BA T AT W AF e 7
(B) &
(D) g

(A) 8T
(©) faceit

[24]

33.

Which organ is known as ‘Blood bank' :
(A) Heart (B) Liver

(C) Spleen (D) Kidney



34.

36.

37,

38.

39.

40.

T T & TR TS (S &) HEAr
£

(A) A (B) B

(C) AB (D) O

BAR T H afedeE & 9fERd U R %
TR & 2, T 9

(A) FfA

(B) FrolsH

(C) Emeifar

(D) AFTEEE
RS # sifm swr §

(A) GERIRF 37

(B) Afes ara

(C) TEEfas o7

(D) FgHfE ant

g § & 3 @ 1 g ot ¥ Hafte €
(A) NO, & CO,

(B) CH, & SO,

(C) CO, & SO,

(D) SO, & NO,

I v = few Sy % oam §
(A) wrEErivEa

(B) FRiw= (gRa &)

(C) TEEEm

(D) Tt

Freiftheers & WA fFes gR 8 2
(A) 5'g (B) uei

(C) @ (D) &8 ® & 7
Wmmﬁﬁsw% ;

[25]

37,

39.

40.

Which blood group is called "Universal
donor" :

(A)A (B) B
(C) AB D)o

Oxygen in our blood is transported by a
Protein, named :

(A) Keratin

(B) Collagen

(C) Haemoglobin
(D) Myoglobin

The end product of glycolysis is :
(A) Phosphoric acid

(B) Malic acid

(C) Pyruvic acid

(D) Fumaric acid

Which of the following gases related with
acid rain :

(A) NO, & CO,

(B) CH, & SO,

(C) CO, & SO,

(D) SO, & NO,

The Grana & Stroma are the parts of which
cell organelles :

(A) Mitochondria

{B) Chloroplast

(C) Ribosome

(D) Golgi bodies

Reproduction in Bryophyllum takes place by :
(A) Root (B) Leaf '
(C) Stem (D) None of these
Botanical name of Tulsi is :

(A) Saraca indica

(B) Ficus benghalensis

(C) Phyllanthus emblica

(D) Ocimum sanctum

P.T. O.
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42.

43.

44.

45.

46.

47.

NE

HREE

HISTORY
ardl w9 e ud ¥ wefm ¢ 41.
(A) 34 (B) 915
(C) wrEd (D) ¥

TETeeel (T RE) g @ as @l
™

(A) T wEIE WAl g0

(B) TEE I sl &

(C) T =ud T

(D) d1.€1. #g™HA g

g ud g fRar E—

(A) 3. &, M. Y= T

(B) HeER @ T

(C) W 98 &M

(D) THIE 3r9Ns TN

T AYNE IS 9@

(A) 9 (B) Rfegd &
C) Reet 1 (D) fofewm &

TH TS H G ViEenel TES o—
(A) 4t 19 (B) R T

(C) &= T4 (D) ¥48 T«
oA gmeg & e e &t o 2
(A) B 3 gom

(B) FwRaTF

(C) =z fadfg

(D) #R&e 1l

el & Hgdieh fRm ggafier @1 fmi FaEw
T]I]T_.

(A) ¥TESRI &N

(B) IRMIE TN

(©) FTTH & T

(D) st g/

[26]

45.

46.

Sanchi Stupa is related to which religion ?
(A) Jain (B) Buddhism

(C) Bhagvat (D) Shakt
Mohanjodaro (Saraswati Sindhu) Civilization
is discovered by :

(A) Rai Bahadur Sahni

(B) Rakhal Das Banerjee

(C) Ram Chaudhary

(D) V. D. Mahajan

Buddhism is started by :
(A) Dr. B.R. Ambedkar
(B) Mahaveer Swami
(C) Mahatma Budh

(D) Samrat Ashok

Samrat Ashok was ruler of :
(A) Bhopal
(C) Delhi

(B) Pataliputra
(D) Vidisha

Most powerful ruler of Gupta dynasty was :
(A) Shree Gupt (B) Kumar Gupt
(C) Skand Gupt (D) Samudra Gupt

Who was the founder of the kingdom of Vijay
Nagar ?

(A) Harthar and Bukka

(B) Krishnadev Roy

(C) Dev Roy 11

(D) Harihar II

Mehrauli situated Kutubminar of Delhi is
constructed by :

(A) Shahjahan

(B) Aaram Shah

(C) Kutubuddin Ebak
(D) Babar



48.

49.

51,

82,

55.

NE

sfoere # fobw Yoo & ae (S gee
FaT A 8—

(A) weRen facst

(B) Fe@ i

(C) HEHR TIAH &l

(D) fIsE qrem
aroEe o & -

(A) BRY H (B) 91 #
(C) M # (D) =% #
forarstt & A &1 9™ 91—
(A) SR (B) asTE
(C) wiediat (D) aNEE

AeE fR= w9 % gwNs 49—
(A) UfEd Faet a1 ABE

(B) WE< 2 HHI< TE

(C) WM = T

(D) W ¥z 3wwe @

TEIG HGE F FH EH A :
(A) 77 w9 # (B) fagm #
(C) faeett & (D) sma H

RA BIEl 3=led W fhar mar—
(A) 3= T gm

(B) e TR T2d &

(C) . q. fyam g

(D) TEA =" FEE= T gw
T =9 Qe §Y H W f—
(A) faoreendr 1925 €. F

(B) fasam=er®t 1930 3. &

(C) AUl 1942 €. &

(D) dumEet 1947 & H

T WY 9% U9 § TS 94—
(A) T8 TeaeTst

(B) &vr@ aferrd e

(C) &&T &S9d T

(D) e fagrdt arsied

[27]

49.

51.

s2.

55.

Which Sultan is known as Mad (Sanki) Sultan
in history : '
(A) Allauddin Khilji

(B) Balban

(C) Muhammad Tuglak

(D) Ferozshah Tuglak

Tajmahal is situated at :
(A) Chattarpur (B) Patna
(C) Agra (D) Mumbai

Shivaji's mother name was :
(A) Jijabai (B) Baijabai
(C) Chandbiwi (D) Tarabai

Founder of Azad Hind Fauz was :
(A) Pt. Jawahar Lal Nehru

(B) Mohan Das Karamchand Gandhi
(C) Subhash Chandra Bose

(D) Sir Saiyad Ahmed Khan

Chandrashekhar Azad was born at :
{A) Madhya Pradesh (B) Bihar
(C) Delhi (D) Bengal

Quit India Movement is started by :

(A) Indira Gandhi

(B) Ballabh Bhai Patel

(C) D. P. Mishra

(D) Mchan Das Karamchand Gandhi

Rashtriya Swayam Sewak Sangh' was
established in :

(A) Vijaydashmi - 1925 A.D.
(B) Vijaydashmi - 1930 A.D.
(C) Deepawali - 1942 A.D.
(D) Deepawali - 1947 A.D.

Founder of "Rashtriya Swayam Sewak Sangh
was :

(A) Guru Golwalker

(B) Keshav Baliram Hegdewar

(C) Lala Lajpat Rai

(D) Atal Bihari Vajpayee

PT.0.



57.

58.

59.

60.

NE

T

GEOGRAPH

I, T HAET H OTER @ -
(A) T3 SYde s

(B) T Iff A wamA

(C) T&ER ¥4I SEEH

(D) TR RFRS HERE

e g ® @ ae w ga g ?
(A) 358 GERE et fame @9 R/
(B) 39" =zg"d T &9 §
(C) 39 TEgem = &= |
(D) 3% @ET e B ®
ARYF TS & AW W AT 9
(A) 9 whifd

(B) et wifa

(C) v Hifd

(D) Terlt sifd |
39 O 5 e # T § 2
(A) TermEE (B) Refimm
(C) ferdme (D) fermee
ToH W IREES H WA 1
(A) 9 IRagd

(B) g R

(©) @ Ras

(D) W% Ufaed

[28]

56‘

37,

S8.

59.

60.

Coal, Petrol are the type of resources :
(A) Non Renewable resources

(B) Renewable resources

(C) Frequently used resources

(D) Eternal Natural resources

Why red soil has red colour ?

(A) because it contains phosphoric acid
(B) because it contains Humus

(C) because it contains Nitrogen

(D) because it contains Iron

The name of operation flood is known :
(A) Yellow revolution

(B) Blue revolution

(C) White revolution

(D) Pink revolution

Which is not a variety of coal ?

(A) Anthracite (B) Bituminous

(C) Lemonite (D) Lignite

Which is the most cheapest means of
transport :

(A) Water transport

(B) air transport

(C) rail transport

(D) road transport



61.

62.

64.

65.

66.

67.

dic T g ?
(A) 9 am A F IR

(D) ST & 230
AT # qaifts S 9@ SEe 3Tt S 2 ?

(A) T (B) A
(C) dEa (D) =
a9 erftT 3am A9 @

(A) SFS AN (B) Tt 3@
(C) @ i (D) I+ =

R % e U9 § feE dir osEE IEm
Wﬁﬁ%

(A) BTE (B) Flesh

(C) uf¥em amer (D) 3nfewm

WA W AEH AERE & SR e g
(A) T (B) T

(©) foweh (D) &g
Ao # g flga e & YER @
(A) Wiplass Saar

(B) 3iifrs amo=

(C) TR S

(D) IwF oot

TR demg wRa & fFe Tog # fRm # 2
(A) afeg (B) s

(C) ™ wew (D) =

[29]

61.

62.

63.

65.

66.

67.

What is Knot ?

(A) Unit of measuring wind velocity
(B) Unit of measuring air pressure
(C) Unit of measuring temperature

(D) Condition of sky

Which crop is mostly grown in India ?
(A) Wheat (8) Pulses

(C) Rice (D) Bajra

Which is not forest based Industry :
(A) Paper Industry (B) Wood Industry
(C) Rubber Industry (D) Sugar Industry
Bhilai iron and steel industry situated in
which state of India :
(A) Chattisgarh (B) Karnatak

(C) West Bengal (D) Odisha

Weather maps are publised in India from :
(A) Mumbai (B) Pune

(C) Delhi (D) Dehradun

Which type of disaster in Bhopal gas tragedy :
(A) Natural disaster

(B) Industrial disaster

(C) Chemical disaster

(D) All of the above

In which state in India Tuticorin port is
situated ?

(A) Tamilnadu (B) Karnataka
(C) Andhra Pradesh (D) Kerala

P L O.
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70.
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T &

(A) <shard

(B) wfa=rsham
(€) & F v
(D) 39t |t

T F T Fg1 AMfiE 9rier 29§ -
(A) 55 TS It

(B) FAees fmen

(C) afcsEm

(D) St

i ST $ T FRER A1 R 39T
T8 2, 3% g ooy i T gEER dar g
(A) RS =

(B) Te g

(€) §9=

(D) ¥-ferdre

[30]

68.

69.

70.

Tsunami is :

(A) Cyclone

(B) Anticyclone

(C) High Oceanic waves

(D) All of the above

Which country is biggest contributor of trade
in India :

(A) United State of America

(B) United Kingdom

(C) Belgium

(D) Germany

To all those customer who do not have

computers or internet to them they are

provided telecommunication through :
(A) Vyaparik Channel

(B) Speed Post

(C) e-Post

(D) e-Bill Post



71.

72.

73.

74.

A

AN o

CIVICS
T T FEE S g 71.
(A) 1885 (B) 1900
(C) 1920 (D) 1947
gy il & ot @A 9 2 7

(A) THE T’
(B) 3t
(C) wirdr ff
(D) & S
TG TPE Y S ¥OH AEHF & 9§ 2

(A) T3l &

(B) =T a

(C) =ATer TR FAN

(D) weren it

Hifer il F g S H@r 8 2
(A) TR

(B) Tgdfd

(C) Tug

(D) wafes =mweE

fererasr Fewy w91 & forw =g ey fan
o g Ry ?
(A) 21 o (B) 25 =

(C) 30 = (D) 35 ad

[31]

13:

74.

75,

Indian National Congress was formed in the

year :
(A) 1885 (B) 1900
(C) 1920 (D) 1947

Who was the president of the drafting

committee ?

(A) Rajendra Prasad
(B) Ambedkar

(C) Gandhi ji

(D) Nehru ji

Who was the first president of [ndian National

Congress ?
(A) A. O. Hume
(B) Surendranath Banerjee

(C) Wyomesh Chandra Banerjee

(D) Mahatma Gandhi

Who safeguards the fundamental rights ?
(A) Prime Minister

(B) President

(C) Parliament

(D) Supreme Court

What is the minimum age to become a

member of Legislative Assembly ?
(A) 21 years (B) 25 years

(C) 30 years (D) 35 years

P.T. O.



76.

77.

78.

79,

80.

NE

SIS

ECONOMICS

i e o7 &1 e fA=fefan & 8 fFeR 76,
g ?

(A) Tt 3 (B) iwa 34

(C) W s (D) T 3

farferfian & @ Sim-ar anfdes fwm & mgeve 77
g ?

(A) TEA &

(B) 3nfi® aeamn

(C) wmfSs FeamT

(D) 3= T

‘T 3R ey’ fraforfaa § @ feod g/ 78,

@t § 7

(A) SmIfde® ST

(B) fds HE

(C) ifteh W=

(D) 3= Tt

frfofian & 9 b ad & wmm & = siflm 79.
Aifer @ g T ?

(A) 1990 (B) 1991

(C) 1992 (D) 1993

T|-wE s @ e g 80.
(A) T T g F9 39T § g 21
(B) W& T Fom a1 fowg 9 gafm g1
(C) T T s =997 35 29 ¥ ¥ar 8
(D) T& o R it o faws # & €

[32]

Per capita income refers to which of the

following ?
(A) Whole income (B) Average income

(C) National income (D) Net income

Which of the following is the criteria of

measurement of economic development ?
(A) National Income

(B) Economic Welfare

(C) Social Welfare

(D) All the above

‘Education and Health' belong to which of

the following ?

(A) Social infrastructure
(B) Economic infrastructure
(C) Physical infrastructure

(D) All the above

In which of the following year India has

adopted the "New Economic Policy' ?

(A) 1990 (B) 1991

(C) 1992 (D) 1993

Multi-national Company means ;

(A) A company whose work relates to
production.

A company whose work relates to sale.
A company whose business is spread
over several countries.

A company whose sharcholders are
spread in whole world.

(B)
©

(D)



81.

82.

83.

84.

85.

NE

T

MATHEMATICS

*0+tan” 6 -1 *B+tan’ 01

i + fm H AA B : 81. The value of — + fl}' L
sin“ 6 sin~ 0

(A) sin? 0 (B) cos? B (A) sin® 0 (B) cos? 0
(C) cot? 6 (D) tan? 0 (C) cot? 0 (D) tan? B

2 o > 7 o 2 200 2 700
cc->5120 +c?52 . AT E : 82. Value of cc.>s’ D+cf)s., e 153
sin“59° +sin“31° sin” 59° +sin~ 31
(A)O (B) 1 (A)0 (B) 1

| 1
©) 5 (D) -1 ©) 3 (D) -1
m &% 59 e F fau wiwm 83. Which value of m, equation

2x+my—-4=0,

x-7y-10=0

# FE g T am ?

e B) —

()3 ()IO

()—3 ()3

TGIE xS —4x2 - Tx + 10 F TIS € ¢
(A) 1, 5, =2 (B) 1, -5, 2
(C)-1, 5,2 (D)1, -5, =2

. O o U )

P i 9 o 9% e 9 &
xz+| p—_—

x“ -1

Ay = B) 2

()2 ()K

(€) 2x (D) x?

[33]

85.

2x + my — 4 = (,
3x-7y-10=0

has no solution ?

A) 2 B) —
(A) 3 ® 15
o 14 )14
(©-3 (@)
Zeroes of the polynomial x3 — 4x2 — 7x + 10
are :
(A)1,5,-2 (B)1,-5,2
C)-1,5,2 (D) 1,-5, -2
Which rational expression should be added
X—X* +2 X+l
1o X(Xz—]) 1o get xz_] :
A) = B) =
(A) 3 (B) =
(C) 2x (D) x?
Jj T. O.



86.

87.

89.

90.

91.

NE

SR AR g FR A W A D

(A) 4 99, (B) 6 HH.
(C) 8 Tt (D) 10 &
UF GIEH d6d & S9n 14 9. 81 9k awd

=g 16 T a9 TEd IO F T THYS
1320 ¥.2 &) @ il = R -

(A) 14 ¥, (B) 16 &
(C) 7 &, (D) 8 ¥,
fFdt g99 & d9R F IO uE 39S s

F T HE A A 39 T g H I
T AT

(A) 300
(C) 60°

(R) 459
(D) 90°

sin 0 (cosec 0 — sin 0) &1 HH g :

(A) sin? 0 (B) tan? ©

(C) cot? 6 (D) cos® B

4 foel @l us @Y WA W, fER

e W g (fed) @ TR W 2d (%) A
N WRpar @ -

(A) 2 (B) 1/2
(C)4 (D) 1/4
g st M A W 5@ AW A T
wifderar gnft f6 & & s=afes sterr-stem &)
(9 ad F B :
e 3
()365
|
(B)ﬁ
364
(C)E

(D) ITeT ¥ ¥ FE TE

[34]

87.

88.

89.

90.

91.

Length of Chord which is at a distance of 3 cm.

from the centre of circle of radius 5 cm. is :
(A) 4 cm.
(C) 8 em.

(B) 6 cm.
(D) 10 cm.

The height of a hollow cylinder is 14 cm. If
external diameter is 16 cm and total curved
surface area of the hollow cylinder is 1320
sq. cm., then its internal diameter is :

(A) 14 cm. (B) 16 cm.
(C) 7 em., (D) 8 cm.

The angle of elevation of the sun when the
length of the shadow of a tower is equal to
its height is :
(A) 30°
(C) 60°

(B) 45°

(D) 90°

The value of sin B (cosec 8 — sin 8) is :
(A) sin? 0 (B) tan? 0

(C) cot? 6 (D) cos® B

Two coins are tossed simultaneously, then

the probability of getting head on one coin

and tail on another coin is :
(A) 2
(C) 4

(B) 112
(D) 1/4

Sita and Gita are friends, what is the

probability that both will have different

birthdays (ignoring a leap year) :

(A) —
365

1
364

364
365

(D) None of these

(B)

(©)



92.

93.

94.

98.

96.

97.

NE

g @ gge G @ g, fo Y ey o
f T R =w o qrEm g @ ey faefer
g & g M, AW S adwe g
w0 g ?

(A) 50 T8
(€©) 70 =¥
2§ 9m &9 ol @ s @t e fee
pre i
(A) 30

(C) 45

AR A 3 B & i weew @ W

(AUB)C =

(B) 20 =4
(D) 30 =

(B) 40
(D) 50

(A) A€ L B€ (B) A¢ A B€

(C)A u B€
8 Ut fis & W & el I et 1 &,
e & fed M s o1 g § 2

(A) 64 (B) 128

(C) 356 (D) 512

(D) AC ~ B

sin49°
cos4 |’

+cos4l"‘ : T
sin49° '

(A) 2

(B) 4

€)1

(D) 3WeT & § HE 7Ll

0% Gl ax?+bx+c=0 %m\ﬁ
aRdas 99 @l B €, 3

(A) b% - dac = 0

(B) b2 > 4ac

(C) b2 < 4ac

(D) b2 + dac = 0

[35]

92.

93.

94.

97.

Five years ago age of Sunita was thrice the
age of Vineeta. After 10 years Sunita's age
will be twice the age of Vinita, what is the
present age of Sunita ?

(A) 50 years (B) 20 years
(C) 70 years (D) 36 years

How many two-digit numbers are divisible
by 2 :

(A) 30 (B) 40

(C) 45 (D) 50

If A and B are two non empty sets then
(AUB)© =

(A) A€ U B€ (B) A ~ B¢
(C)A u B¢ (D) A€ ~ B

How many spheres of iron having radius 1
cm. can be made by melting a sphere of iron
having 8 cm. radius ?

(A) 64 (B) 128

(C) 356 (D) 512

Value of |:Sin i * C?S“OJZ is
cos41°  sin49°

(A) 2

(B) 4

(O 1

(D) None of these

A quadratic equation ax? + bx + ¢ =0 has no
real roots, if :

(A) b2 — dac = 0

(B) b2 > 4ac

(C) b* < 4ac

(D) b2 + 4ac = 0

P.T. O.



98.

99.

100.

el = aqds ¥ wog@ Sl & 39 A

2.
(A) 90° (B) 180°
(C) 270° (D) 360°

T AU : 8, 3, =2, ... & 9IH 20 T FH

R
(A) ~790 (B) -970

(C) 979 (D) -779

TF el ¥ uRY # =AW 1.6 m 21 gk
W e # 21 g9 @A 31 @9 U u5e §
aRfFe fealt g e -

(A) 3.636 km. (B) 6.336 km.

(C) 6.633 km. (D) 2.640 km.

98.

99.

100.

136]

The sum of pairs of opposite angles of a cyclic

quadrilateral is ;

(A) 90° (B) 180°

(C) 270° (D) 360°

The sum of first 20 terms of AP : 8, 3, -2,

(A) =790 (B) 970

() -979 (D) =779

The diameter of a cycle wheel is 1.6 m. The
wheel revolves 21 times in one minute, then
how much distance will the cycle cover in

one hour :
(A) 3.636 km. (B) 6.336 km.

(C) 6.633 km. (D) 2.640 km.
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